Using 1n to denote the natural logarithm, the general model estimated was
as follows:
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Where Qjt = per person consumption of beef in region j in year t
real per person expenditure in region j in year t

Pit real retail price of beef in region jin yeart

Sit = real retail price of fish in region j in year t

Hi = average number of people per household in region j in
year t

Di = population density in region j in year t

T, = timeinyeart

] = region

t = year, 1974 to 1994

ajj = parameters to be estimated, fori=1to 6
&t = error term



